Social Studies 30

The Trickle-Down Theory

(Reaganism, Neo-Conservatism, Kleinism, Supply-Side Economics)
Reduce government expenditure.


Reduce corporate tax.
Cuts

Reduce regulations.


This spurs economic activity at the top levels of business.


Businesses and corporations then have more money 

for investment and to employ more workers.


Middle-income earners benefits because of higher paying jobs.


More money is put into the economy as demand for products increases.


Lower-income earners benefit as they eventually 

get higher paying jobs to meet demand.


